Measureitright

Forsentek

Weighing || Measuring || Controlling

Ordering code

Measureitright

orsente
Www forsentek.com

Model:FCM

FCM-5t
—\_— Capacity
Model
Wiring Diagram/##E4E
Capacity(t) A B C D | E d h1 | h M TN out()Red BAL
0.5/1/2/3/5/7 105|132 | 88.9 |11 |10 | 6.5 | 34 | 37 | M16*1.5 Output(+):Green  HtH(H43
10/20/25 125 | 39 [101.6| 14 | 11 | 8.5 | 48 | 52 | M32*1.5 Input(yBlack  BACYE
30/50 145 | 50 [ 116.8| 17 | 11 | 10.5| 54 | 58 | M40*1.5 Output(: White (2
60/100 205 | 80 162 | 20 | 15| 125 | 78 | 85 M60*2 ~—" Shicld =50
--- Specifications / FIESEY --- .
Rated Output Compensated Temp.
e 2.0+£109 N o) fot i -10...+40°
FEHH 0=10%mV/V BEMLEE 0. a07C
Excitation Operating Temp. o
R ~ N <+ - ot
BRI E 315V TIFRESHE 20...760°C
V4 Bal T . Shift Z
e% 5%{;;“ +2% of R.O. %“gtz F;;g" +0.05% of R.0./10°C
lAn AN IER
Nonlinearity +0.05% R.O. Temp. Shift Span
s (>30t£0.1% R.O.) SHEREER +0.05% of R.0./10°C
Hysteresis +0.05% R.O. Input Resistance
= (2301£0.1% R.O.) N 400+30€
Nonrepeatability +0.05% R.O. Output Resistance 3554100
FEEM (230t+0.1% R.0.) T
C 10mi Insulation Resist
reep%gmm) +0.03% of R.O. sy agé"g%‘ﬁe;}; anee >5000MQ(50V)
Safe Overload Ingress Protection
Ultimate Overload Material of Element Alloy steel
g 200% of F.S. ™
IR E o B CAR T} AS
Cable (<10t,95*3000mm)@5.8*6000mm 4-core shielded cable
S (<10t,@5*3000mm)D5.8*6000mm 41 ik Lk
R.O.=Rated Output/Zjiigtay  F.S.=Full Scale/;{&%&FE

* Subject to change without notice / INBE B A

Forsentek Co., Limited

*Web: www.forsentek.com

| Al

BiTEM

*Email: sales@forsentek.com




Measureitright

Forsentek

Weighing || Measuring || Controlling

Mounting assembly

f | |
T ﬁlj Lﬁl ———————— Top plate Qty 1pc
‘ ‘
[ ] _ __ - [ = j ———————— Adapting plate Qty 1pc
LD — LD
A— ——————————— ==q--------- Load button Qty 1pc
H — ; ; I Threaded rod Qty 2pcs
g = —-EI —————————— Load cell FCM Notincluded
E} ---------------------- E‘ ---------- Bolt Qty 8pcs
[ ][ ] [ ]— ——————— Nut Qty 8pcs
rt ———————— Bottom plate Qty 1pc
i
O o O
Both sides
VR VR
W A { ) { )
o =4 o —7
| 6 |
Part No Compatible with L|lw/|H|A]B]|nh]d Net weight Material
: P (Excluding load cell)
WMT FCM(0.5/1/2/3/5/Tt) 160 | 115 98 90 135 | 20 11 5.9kg
Alloy steel
WMH FCM(10/20/25t) 200 | 160 | 145 | 125 | 160 | 25 13 13kg

Load button

SR @D
Ee ;
h
| | H
\ \
I I
\ \
M
Part No. H h D M SR Compatible with Net weight
LBA 28 13 31 M16*1.5 80 FCM(0.5/1/2/3/5/7t) 92¢g
LBB 51 24 38 M32*1.5 120 FCM(10/20/25t) 3649
LBC 62 32 50 M40*1.5 200 FCM(30/50t) 7529
LBD 80 42 80 M60*2 280 FCM(60/100t) 2391g

Forsentek Co., Limited

*Web: www.forsentek.com

*Email

: sales@forsentek.com




Measureitright Weighing || Measuring || Controlling

Forsentek
Drawings of included parts of WMT 1o
Top plate(x1) Bottom plate(x1) threaded rod(x2)
20 1s i i 5 —|M10 |~
iiiiiiiiiii L @32 Dep 3 — é
8-M6 Thru— é
O O O PN O =
| AN —
‘ 2311 h '/d o Q | _2mto0 g %
115 90 ar O/ @ 115 9 @ \ /\ @/ Thru g
gyl 8 8 =
- U o =
O of o v g =
- - M6 bolt(x8)
Adapting plate(x1) Load button(x1) M10 nut(x8) T
244 @31 M0~ /7 <\
* @31.5 SRsoi‘// () o5 | —
K o/ | £
i — : = o =l
| | 1 | | 8.2 =
L*Q)SS Dep 7—] l ‘ : — M6 —

—{ M16*1.5 |~—

Drawings of included parts of WMH 12 .
Top plate(x1) Bottom plate(x1) threaded rod(x2)
165 ‘ ‘ |
S i e s 215 D
L039Dep35 ‘—‘
8-M8 Th ﬁ—f
]
o o o \/Q o -
QL o
e NN ﬁ
160 o016~ 2-M12 I
’ @/ \Q V" Thru ﬁ
1601 54\0 O O 160 125 O ( ) O H
L ; o 3 O]
40— \\ 160 /’
Pa o0 e

Sy 0 Sy ® M8 bolt(x8)

160 160 212.5
Adapting plate(x1) Load button(x1) M12 nut(x8) —
49 SRi20-, 238 sz o g

~———238.5—~ \ I

/ () =
3‘1 } \ 4{ g
w0 ( ;\ \; 51 * —

—=-M8
ikmo Dep 8.5~ [ ‘ ‘ ] !
l [—M32%1.5 —= $ @22%

* Subject to change without notice

Forsentek Co., Limited *Web: www.forsentek.com <Email: sales@forsentek.com




